Geometry/Trig 2 Name

Similar Triangles Practice

State if the triangles in each pair are similar. If so, state how you know they are similar and complete the
similarity statement.
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Find the missing length. The triangles in each pair are similar.
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Solve for x. The triangles in each pair are similar.
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Word Problems:

21. A tree that is 24 feet tall casts a 12 ft. shadow on the ground. Brad is 6 ft. tall. How long is Brad’s shadow.
(Draw a picture to solve this problem)

22. Triangle EFG and Triangle QRS are similar. Triangle EFG has side lengths of 144, 128, and 112. The
smallest side of Triangle QRS is 280. What is the longest side in Triangle QRS?



